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The moving-base model on the left is used in designing isolation to protect the
device from motion of its point of attachment (base). The modcl on the right is
used to protect the point of attachment (ground) from vibration of the mass. J
T:JYQ_
Zo.se < Displaccment Transmissibility Force Transmissibility 1> w b
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EXQ \"‘m\' l A1) = Fysin () ,ﬁ‘jcd W!/
Device JX(') = Xsin (wyf — &) - Source of J x(r)
m Vibration isolator Sheilive Vibration isolator
@') = ynu (u) @
Moving base (source of vibration) Fixed base
Vibration source modeled as base motion Vibration source mounted on isolator
Here y(1) = Ysin wtis the Here F¢) = Fysin wt is the
disturbance and from disturbance and
equation (2.71)
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defines the displacement defines the (orce transmissibility
transmissibility and is for isolating the source
plotied in Figure 2.13. of vibration as derived
From equation (2.77), in Section $.2.
Fr_ 1+ Qo 1"
o la-mteao F= X ALt ca*
defines the relsted foroe 7
transmissibility and is
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